Visby BS
Parspel 11 2020-11-06

Partavling, 6 bord, 12 par. Antal brickor: 21. Medel: 105.0.

Plac Par Poang % Namn MID Klubb
1 9 135.0 64.27  Hasse Tagt - Torgny Nilsson 87384 84569  Visby BS - Horsne BK
2 11 126.6 60.28  Sune Rongqvist - Gosta Eriksson 15196 5185  Vishy BS
3 10 117.8 56.12  Eva Kraft - Goran Jakobsson 51349 4549  Klintehamns BK
4 3 115.6 55.04  Ulrika Forsberg - Jan-Olof Henriksson 89334 13223 Visby BS
5 7 111.1 52.91 Birgitta Gustafsson - Carin Bilar Nyberg 92160 22778 Visby BS
6 4 109.6 52.18 EvaJan - Runar Edholm 18438 49441 Klintehamns BK - Visby BS
7 2 99.2 47.25  Rolf Bjorn - Frank Caperius 12572 15076 Visby BS
8 5 96.7 46.05 Lena Fritzell - Jan Béackstrom 42492 21192  Visby BS
9 1 91.8 43.72  Lars-Erik Lindberg - Egon Eskedahl 5162 5208  Visby BS
10 12 89.8 42.78  Brita Augustsson - Jens Kvarnberg 62880 39187 Visby BS
11 8 85.7 40.79  Anna Roll - Curt Roll 59261 59260 BK Opalen
12 6 81.1 38.61 Ewa Montelius - Gunder Parenmark 44768 67835 Visby BS
1 4 Kn108654 Basta kontrakt 2 4 Kn109842 Basta kontrakt 3 4 Kn4 Basta kontrakt
Nord v63 54 N =450 Ost v 108 5NT O =-460 Syd v 952 6NT V =-1440
Ingen * K42 NS +6 ov + DKn4
#E3 & ¢ v & NT #10542 & ¢ v & NT #109865 & ¢ v & NT
492 oK N 5 105 118 4 K75 4 D3 N3 2462 43 4 KD72 N21141
vKn987 v KD105 S 5 105 118 vKD6 v 753 S3256 2 vEKKn4 ¢1076 S21041
+ 876 ¢ EKn5 072822 ¢ EDKn73 ¢ K952 O 8 118 7 11 ¢ 752 ¢ EK1098 O 1012129 12
#Kn1065 #KD987 V72822 #EK «D873 vV 8 118 7 11 #ED432 &K V 1012128 12
4 ED73 4 E6 & E109865
v E42 v EKn942 v D83
+ D1093 +1084 ¢ 63
*42 #Kn96 &Kn7
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
11 2 34 N+2 +A 200 100 0.0| 3 10 3NV-3 s 150 100 0.0| 3 10 24 O+1 6 -140 100 0.0
9 4 540-3 4A 150 80 20| 9 4 340+1 &A -130 80 20| 9 4 3¢0+2 &J -150 70 3.0
3 10 34 N= *K 140 50 50| 7 6 3NV= aJ -400 40 6.0|11 2 3¢ O+2 &A -150 70 3.0
7 6 24 N+1 vK 140 50 50| 8 5 5¢0= S A -400 40 6.0 8 5 3NV+l &5 -630 40 6.0
12 1 3v 0= *4 -140 20 8011 2 5e V= 4] -400 40 6.0 7 6 3NO+2 43 -660 20 80
8 5 3v O+l 3 -170 0.0 100(12 1 3NO+1 a2 -430 0.0 100(12 1 44DN-6 ¢vK -1400 0.0 10.0
4 & Kn983 Bésta kontrakt 5 4 Kn863 Bésta kontrakt 6 & Kn3 Bésta kontrakt
Vast v D105 4¢ N D -2-500 Nord v 1064 5NT O =-460 Ost v Kn105 6v S D -3-500
Alla + E10652 NS * K7 ov + 1062
*7 & ¢ v & NT #9874 & ¢ v & NT +D9764 & ¢ v & NT
oE 4107652 N286 6 4 4 K5 o E N70080 4 EK106 4 D754 N8 29 22
vKn76 v E98 S28674 vED732 vK85 S70080 vED v32 S829 22
+ D43 +K O 104 6 6 9 ¢ Kn1053 ¢ ED9842 O 6 11115 11 ¢ KKn854 ¢ ED973 O 5 114 1111
#ED10985 #Kn642 V 104 6 6 9 #32 «D105 V 6 11115 9 108 *K3 V 4 114 108
« KD4 4 D109742 4982
v K432 v Kn9 v K98764
+ Kn987 +6 ¢-
*K3 #EKKn6 #EKn52
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
9 6 54V-2 *7 200 100 00| 9 6 4v V-1 43 50 100 0.0 9 6 5¢ V= vT -600 9.0 10
10 5 2¢ N+2 & 130 80 20(10 5 5¢ 0= *A -400 80 20|10 5 5¢ 0= *5 -600 9.0 10
8 7 24V +2 43 -130 6.0 40| 1 3 3NO+1 4K -430 6.0 40(12 2 44 V= 2 -620 6.0 4.0
12 2 340+2 ¢A -150 40 6.0|12 2 5¢ O+2 44 -440 40 6.0 4 11 3NV+1l &7 -630 40 6.0
1 3 54V= ¢A -600 10 90| 4 11 4v V+1 &9 -450 20 80| 1 3 54 0+1 #A -680 1.0 9.0
4 11 58 V= ¢ A -600 10 90| 8 7 3NV+4 43 -520 0.0 100 8 7 44 O+2 #A -680 1.0 9.0
7  DKn8 Bésta kontrakt 8 41083 Bésta kontrakt 9 & KKn9654 Bésta kontrakt
Syd vE105 6v V =-1430 Vast vDKn 7NT N =1520 Nord v5 5¢ N =400
Alla + 10863 Ingen 4975 ov + EK95
#Kn83 & ¢ v & NT #KD832 & ¢ v & NT #85 & ¢ v & NT
4 E3 & K9542 N23122 4 Kn754 & K962 N 109 138 13 4102 4 D87 N4 119 9 7
vKD942 vKn S23122 v 875 v2 S 109 138 13 v84 v EDKn2 S 4 119 9 7
¢ED94 ¢752 O 1110111111 ¢ KKn10 ¢ 6432 013050 +D1042 +6 09 2 433
«D10 #EK75 V 1110121111 #954 #Kn1076 V13050 #D10962 #EKKn43 V92435
41076 4 ED ~E3
v 8763 v EK109643 v K109763
¢ KKn + ED8 + Kn873
#9642 *E *7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 8 3NV-1 +3 100 100 00|11 6 6vy S+1 ¢K 1010 100 0.0 9 8 34 N= SA 140 9.0 1.0
5 1 2NV+1 6 -150 80 20| 5 1 6vS= v8 980 80 20|11 6 34 N= *A 140 9.0 1.0
11 6 2vV+2 4Q -170 6.0 40| 2 4 4vyS+3 T 510 40 6.0 5 1 24 N-= *K 110 6.0 4.0
2 4 3NO+2 &9 -660 40 6.0 9 8 4v S+3 44 510 40 6.0(10 7 440-1 &A 100 40 6.0
10 7 3NO+3 +¢8 -690 10 9.0|10 7 4v S+3 45 510 40 6.0 2 4 3aN-1 +6 -50 20 80
12 3 3NO+3 ¢3 -690 10 9.0|12 3 3NN+2 &7 460 0.0 100(12 3 44 S-2 SA -100 0.0 10.0
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10 4 D109843 Basta kontrakt 11 & KKn954 Basta kontrakt 12 47543 Basta kontrakt
Ost v- 5¢ S =600 Syd v8 5v VD-1100 Vast v 105 24 V =-110
Alla + E92 Ingen .- NS + 10983
#KKn107 & ¢ v & NT #EK109865 & ¢ v & NT #DKn10 & ¢ v & NT
« EKn62 4K75 N8 119 9 9 « EDI10 47632 N 115 2 6 7 4 E1086 #KDKn N7 6556
v97643 vKD S 8 119 9 9 vK109432 vE76 S 115 2 6 7 vKD62 vKn43 S76556
+ K8 ¢ Kn64 052 4 44 ¢+ K2 ¢+ ED987 O 2 8 106 6 ¢ D52 ¢ KKn6 O6 6 887
£82 #D9543 V52444 #43 &Kn V 2 8 106 6 #63 #9875 V66887
a- 48 492
v EKn10852 v DKn5 v E987
+D10753 + Kn106543 ¢ E74
*E6 «D72 #EK42
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 9 3NN+2 43 660 100 0.0|11 8 5&4N+1 +¢A 420 100 00| 1 7 1&4S+1 #3 90 80 20
11 8 44 N+1 ¢4 650 80 20| 3 5 54N= vA 400 80 20| 3 5 INS= v6 90 80 20
6 2 2vS= *8 110 6.0 40(12 4 14 N= vA 80 6.0 40 6 2 INS= v6 90 80 20
1 7 34N-1 *4 -100 40 6.0 6 2 4y V+1l &A -450 30 70({10 9 3NO-1 *4 50 40 6.0
12 4 34 N-2 +J -200 20 80(10 9 5vV= *A -450 30 70(11 8 1lv V= ] -80 20 80
3 5 5#S-3 s A -300 00 100| 1 7 44DN-5 &J -1100 00 100|12 4 2vS-3 *2 -300 0.0 10.0
13 4 DKn10 Basta kontrakt 14 & K9832 Basta kontrakt 15 4 E92 Basta kontrakt
Nord v 8754 ANT N =630 Ost v EK3 5NT S =460 Syd v EK9642 5¢ V =-400
Alla + EKD62 Ingen + E109 NS + K
*4 & ¢ v & NT *EK & ¢ v & NT *K104 & ¢ v & NT
4 E763 49542 N 1010108 10 « Kn7 « E105 N7 119 1111 «D4 & K10865 N4 29 46
v1092 vDKn S 1010108 10 v 109654 vKn7 S 7 119 1111 v- v 107 S42946
41084 40953 033253 ¢ Kn4 ¢ 852 06 2 422 +D107632 ¢ E954 O 8 114 8 6
#E62 #Knl095 V33253 #Kn642 #D9853 V62422 &#Kn7632 &E5 V 8 114 8 6
4 K8 4 D64 4 Kn73
v EK63 v D82 v DKn853
¢+ Kn7 + KD763 + Kn8
#KD873 «107 D98
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 6 4y N+1 &) 650 100 0.0|11 10 6NN= »5 990 100 00| 2 8 4y N= *A 620 9.0 1.0
12 5 3NS+1 &9 630 80 20| 1 9 44N+2 &J 480 80 2012 5 4vN-= *A 620 9.0 1.0
1 9 4vS= v5 620 40 6.0 2 8 3NN+2 3 460 40 60| 1 9 44 0-2 ¥5 100 6.0 4.0
2 8 4v S= *A 620 40 6.0 4 6 3NN+2 &3 460 40 60| 4 6 5¢V-1 s A 50 40 6.0
7 3 4v S= v2 620 40 6.0 7 3 3NN+2 &3 460 40 6.0(11 10 4v N-1 *A -100 20 8.0
11 10 5v N-1 *J -100 0.0 100(12 5 44 N+1 vJ 450 0.0 100 7 3 5¢ 0= +J -400 0.0 10.0
16 & E65 Bésta kontrakt 17 4 Kn104 Bésta kontrakt 18 » E82 Bésta kontrakt
Vast v Kn75 3NTV =-600 Nord v 107642 2NT O =-120 Ost v- 7v O D -6 1400
oV + KKn1064 Ingen + Knl102 NS + D10742
»E6 & ¢ v & NT »32 & ¢ v & NT #ED642 & ¢ v & NT
108 4 KD73 N353514 4862 4E973 N757565 465 « D97 N9 116 128
vEKD103 v92 S35354 vK85 vDKn3 S757565 v 1087654 v KDKn3 S 9 116 118
¢ 753 ¢ ED9 0989709 + K953 ¢ D76 O6 86 8 8 ¢ Kn53 + K6 042712
#D53 #Kn1094 V98979 #ED4  #Kn65 V67¢677 #Knl10 #K853 V42712
4 Kn942 4 KD5 & KKn1043
v 864 vE9 vE92
+82 ¢+ E84 + E98
*K872 #K10987 £97
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
2 10 24 O-2 +38 200 90 10| 3 9 2vS= v5 110 100 0.0| 1 11 44 S= *] 620 10.0 0.0
12 6 3NV-2 +J 200 90 10| 1 11 INS-1 +3 -50 60 40[|12 6 5v0-3 @A 150 80 20
1 11 3NO-1 +8 100 60 40 8 4 2vS-1 *4 -50 6.0 40| 2 10 44 S-1 *] -100 40 6.0
5 7 INO= +8 -90 40 6.0|12 6 INS-1 +3 -50 6.0 40| 5 7 44 S-1 *] -100 40 6.0
3 9 2¢DN-1 ¥9 -100 20 80| 2 10 2¢vS-2 +5 -100 1.0 90| 8 4 34S-1 v4 -100 40 6.0
8 4 2NO+2 ¢2 -180 0.0 100 5 7 INS-2 +5 -100 10 90| 3 9 44S-2 LN -200 0.0 10.0
19 & Kn6542 Bésta kontrakt 20 4~ Kn84 Bésta kontrakt 21 « EKn10 Bésta kontrakt
Syd v Kn94 5v V =-650 Vast v KD 44 V D -2500 Nord v E1097 3v V =-140
oV + EKKn5 Alla + EKD8742 NS 41073
*3 & ¢ v & NT *6 & ¢ v & NT #954 & ¢ v & NT
4 E9 & K87 N46 253 4 KD10952 463 N59 758 « D87 & K62 N46 465
vED8632 vK75 S46 253 vKn6 v E543 S597509 vKKn42 vD83 S46 4605
+10 ¢+ D963 09 6 118 10 496 ¢ Kn5 07 458 4 +52 ¢ EKKn4 087 87 8
#ED76 #1095 vV 9 6 118 10 *EK7 #Kn9852 V74584 #DKn82 #K73 V87978
« D103 s E7 #9543
v10 v 109872 v 65
+ 8742 + 103 + D986
#KKn842 #D1043 #E106
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 1 4v V= 3 -620 80 20| 9 5 3NO-3 43 300 100 00| 2 1 3NO-2 49 100 10.0 0.0
6 8 4v V= *3 -620 80 20| 2 1 4¢ N+1 46 150 80 20(12 7 3NO-1 +8 50 80 20
9 5 4v V= 3 -620 80 20| 3 11 3¢ N= 46 110 40 6.0 3 11 3NO= +8 -400 30 70
3 11 4v V+1 ¢A -650 20 80| 4 10 2¢ N+1 43 110 40 6.0 4 10 3ANO= +8 -400 30 7.0
4 10 4v V+1 A -650 20 80| 6 8 3¢ N= 43 110 40 6.0 6 8 3NO= A -400 30 7.0
12 7 4v V+1 &3 -650 20 80(12 7 4¢ N-1 49 -100 0.0 100 9 5 3NV= v7 -400 30 70
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